D
) o0
2] 2 % An-Da,x" - gxtjl N o, ="

e

o0
ZZ”‘ AR X = 2 B3na. %’ —Z(oaﬂx tl_ O

—_—

= lona Z&mx“f()

In=o

V=i

22 AR X DR e X ’jgna v i <L

n=—1\

22D, + 2EA2D0% — G, *

& Z; [1@3*3)(,»/\4—2}&’\,“% = (54 *é’>@ j v ' O

Ao, + (12a, ’6Q>X+ZIQ<"W&W+2>C\ 3"3(%2)5%]%
A4q,=0— &,= @
\Qas (7@ /O"”dg’ ‘Lao

3

2~ DD Q™ 2o D), 2O Rz = Mq For nz |

‘\

Ler a,= |, a,=0=a,=4,
A, 70O =0 = B¢ =

A= ’\EQ = o

\\

=% QA F oG, =
2(@) T Rl

7=l & Glge s 2(% A, = ifj‘(‘;%
/q a]],’ 2>

e —
2(2) Aq= 0.9, 5.







AL

2247

-y 3
m=o (14T (34 )

3: C,ﬂ.+ sz

X 4

3+ )

25470

10



Ei{l ﬁ'%— f Lk \ “jfo

X2 WD <
g e N —
RoTH+ plSconT @ w =
\ XKB — X’B 3 ‘ 2 — ‘ ><
W K Y—m™ = = = M i = - 22— = =
x> © X=2x L\_\;‘/(; X=2 = 2 = s A el =2 O  BoTH exssT

%= \s A 2ECULATL SINGULAIL PoINT —> USE pmETHOD OF F@ ORERJIIS

=) NF - - = VY
(YL/2X> §D (n* ()(Y\*("‘> a/’x?\ r 247 <>( /3> i(m‘kr) ahx\/\r(' l B 2 anx -I/r; D
W= n==0 nee

B el =D R X = 2 2lr D

N+ — )

= O

=2

& 2 CY\%/(>Gin vl = i :))Cm,m’)@w.x
/i;o &W th"'

©

i E(ny;/)(m*f’\)%Cn 4/\/> = I]Ckm ><Y\*(-_’ Z [Q(m»fﬂlvwr> ' 3()/7—}'}/4*))] am/]xhw

—[or(v ) :
L {(W ]> *31/] A ; [C”kr/-l»’)(h*l//l >ﬁm . (Qﬂ*ZW*BXVW’/*))&wJSM

=



.,(2\/(('\>+gr>—:o S W(Q»/'2+B>>O____, K(%*)D“_’O 5 e O __Ss;
(e Dlare)) a, = (20 20+ X nrrrDa

—)
~ Dyxy
Aont® e Gn For ML 12 O

nr1 7O AL h2 O

n— |

I

el ) & - SN i
LET Go=
= ]
D10, = SSm =3
a S ZOD €3DED 125 (205D
2 3 <t —> 82/' oy 4 12 (4‘1/))
= e ' )
Sl o o, Qe
Jj ; = )4, ;‘ > A D), 5
,_,__]_- = i = ’2‘/7_____"__3_& n= L{"‘r_\)
= SO ] am a)
- ] 3 3((2V\’4’>)> ><V\
LeTd = | . g ney 27 A-2D)1 202, )
N=0: A\ = 5 A= T = ) i 2((2~-2D))
v\:] 'R, = P - B o L2 ) %
27 s AT Ty nEr 277 (- )
V\f’l_‘. O\ = _"—O\ = |2
3T A8 12
= ¢ g = 313
N= D! Gy = = 5= gl 2=
_ 2l = B = L% A5
n=4: Gs = 20 4 & 121620
5;5 | - 3% *fl'—i—yz’» = . L2032 13135
‘ 4. &1 4. 220b 4 8121020 B



	K_Part6
	K_Part7
	K_Part8
	K_Part8
	K_Part9

